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FAR L K4
1 OFBRAEME IV,
1 —x+8 = 4 2) 2x = 5x—9
—Xx= 4-—8 2x—5x= —9
—x= —4 x = 4 —-3x= —9 x = 3
mAE—1THES miA%E— 3 TEIS
3) 3x+2 =x+1 4 5 x—6 = 3x—2
(H13 EHERAGRMRE) (H16 =HEFERRAR)
3x—x=1—2 5x—6 = 3x—2 (82.2 %)
2 x=— 5x—3x=6-—2
Wil %E 2 TEND 2x=4
v = 1 mil% 2 TS v =2
2
5) 2x—7 = 5bx—5 6) —3x+5 =x—3
(H19 BHEXERRAE) (H17 BHEXTERIHRE)
2x—7 = 5x-—5 (79.7 %) —3x+5 =x—3 (76.1 %)
2x—5x=7-—-5 —3x—x= —3-—-56
—3x= 2 —4 x=—28
mil%— 3 TH S v = _ 2 Wiz — 4 TS x = 2
3
(7) 5—x 1+3x 8 4 (x—5) = 2x—8
(H18 EHEFERRAAR) 4 x—20= 2x-—8
5—x= 1+3x (72.8 %) 4 x—2x= —8+20
—x—3x=1-—5 2x= 12
—4x=—4 x = 1 Mm% 2 THD x =6
mil%E—4TES
2 WOFBRRNEME72I 0,
2 1 1
1 0.2x—0.3 = 0.7 2 —x— — = —x+ 1
3 2 2
MBIz 1 0EMNT S, mialze EhiTd,
2x—3 =7 4 x—3 =3x+6
2x=7+3 4 x—3x=6+3
2x=10 X =9
mil% 2 TE|% xX =5 X =9




